ROTARY LAWN MOWER - - MODEL NUMBER SM2155SP (MFG. ID. NO. 96144000201)
3 1 2 -—

Jrel




ROTARY LAWN MOWER - - MODEL NUMBER SM2155SP (MFG. ID. NO. 96144000201)

KEY PART

NO.
1

O~NO O~ WN

[(e]

11
12
13
14
15
16
17
18
19
20
21
24

25

26
27
28
30

NO.

167163
151721X479
145794X428
183567
191574
189713X428
51793
66426
401812X428
128415
406573X479
406574X479
17060410
175082X479
175081X479
405417
405418
132004
194788
413159
88652

150406

409148
151162
401638
401178X004

DESCRIPTION

Upper Handle Assembly (Includes Foam Grip)

Lower Handle

Control Bar

Engine Zone Control Cable
Handle Bolt

Handle Knob

Hairpin Cotter

Wire Tie

Rear Door Assembly

Pop Rivet

Support Bracket, LH

Support Bracket, RH

Screw, Tapping 1/4-20 x 5/8
Handle Bracket Assembly, LH
Handle Bracket Assembly, RH
Spring, Rear Door, LH
Spring, Rear Door, RH

Nut, Hex 1/4-20

Rope Guide

Rear Skirt

Hinge Screw 1/4-20 x 1-1/4
Engine, Honda, Model Number GCV-160

Screw, Hex Head, Threaded,
Rolled 3/8-16 x 1-1/8

Hex Flange Nut

Wheel & Tire Assembly
Shoulder Bolt 5/16-18 x 1-21/64
Axle Arm Assembly, Rear

KEY PART

NO.

31
32
33
34
35
36
38
40
41
43
44

45
46
47
48
49
50
59
60
61
62
63
64
69
96

NO.

701037
401623X004
155377
401630
77400
184193
401629
188839X004
192325
405845
416562

404763
189179
406712
851074
850263
851084
175071
175735
193000
175650
73800400
175066
164265
197991
404764
193733
193736
419133

DESCRIPTION

Selector Knob

Selector Spring

Nut, Hex

Washer, Curved, Cylindrical
Hubcap

Bolt, Rear Door

Spacer

Mounting Bracket, Debris Shield
Screw, Debris Shield

Debris Shield

Kit, Lawn Mower Housing
(Includes Key Numbers 11, 12 and 45)
Danger Decal

Blade Adapter / Pulley

Blade, 21"

Hardened Washer

Helical Washer

Hex Head Machine Screw, Grade 8, 3/8-24 x 1-3/8
Discharge Deflector

Bracket, Hinge

Spring, Hinge

Rod, Hinge

Locknut, Hex 1/4-20

Mulcher Door

Foam Grip

Clip, Cable

Warning Decal (not shown)
Operator’s Manual, English
Operator’s Manual, French
Replacement Parts Manual

NOTE: All component dimensions given in U.S. inches. 1 inch = 25.4 mm.
IMPORTANT: Use only Original Equipment Manufacturer (O.E.M.) replacement parts. Failure to do so could be hazardous, damage your lawn mower and void your warranty.



ROTARY LAWN MOWER - - MODEL NUMBER SM2155SP (MFG. ID. NO. 96144000201)

-

ROTARY LAWN MOWER - - MODEL NUMBER SM2155SP (MFG. ID. NO. 96144000201)

KEY PART

NO.

36
38
40
41

NO.

184588
158755
150495
191730
180769
12000058
403849
189403
404845
67725
191039
701037
175262
194406X428
175436
77400
409149
408862

415225 *
73800400
137090

408861

DESCRIPTION

Control Cable Assembly

Hex Washer Head Screw 1/4-20 x 2.12
Spring Retainer

Locknut, Hex #10-24

Wheel & Tire Assembly

E-Ring

Pinion

Dust Cover

Pawl, Drive

Washer 1/2x1-1/2 x.134
Bearing, Wheel Adjuster
Selector Knob

Pan Head Tapping Screw #10-24 x 2-3/4
Dive Cover

V-Belt

Nubcap

Nut, Hex, Flangelock

Kit, Wheel Adjuster, LH
(Includes Knob and Bearing)
Gear Case Assembly, Complete
Locknut, Hex 1/4-20

Spring

Kit, Wheel Adjuster, RH
(Includes Knob and Bearing)

KEY PART

NO. NO. DESCRIPTION
54 416561 Grassbag

57 411950 Frame, Grassbag
60 183497 Case, Lower

61 183498 Case, Upper

62 183499 Gear, 27 Teeth
63 183500 Lever, Clutch

64 183501 Spring, Return
65 416988 Shaft, Input

66 183503 Dog, Movable
67 183504 Dog, Fixed

68 183505 Wire, Formed
69 183506 Bearing, Ball

70 183507 Fork, Shift

71 183508 Seal, Output Shaft
72 183509 Washer

73 183510 Seal, Case

74 183511 Bushing

75 196613 Shaft, Output

76 183513 Screw

77 183514 Seal, Input Shaft
78 416987 Pulley, Drive

79 416986 Locknut, Hex

* NOTE: We advise Total Multis EPO0 semi-liquid
grease or a comparable grade (quantity 1.15 0z)

NOTE: All component dimensions given in U.S. inches. 1 inch = 25.4 mm.
IMPORTANT: Use only Original Equipment Manufacturer (O.E.M.) replacement parts. Failure to do so could be hazardous, damage your lawn mower and void your warranty.




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


	Text1: 


